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FoTunguy,

(£ AGERE]

ZOMBEOIEERIIE o772, SURICAITL T, X< BHRAERN TWDERIZE 13 ah
ST, T BT (FRHEID) DVTWIT D720+ ERRE TV DA X, LT T
Holz, £72. Tkeep up] & [ REFT D01, o, [ HEFFT 72012+ 72
E LT D EENEN T,

IHIT, BARGELE LTEMDNELRWE )RR o7, BIFHIBE XD L L 2D

1



PRIl [KOIWVWTWARWE S, 2 ziE, MESIIRFICHET L&, (kT
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1 (H#15R)

1.

[#f REEETE]
the role of nuclear power % i#t-> T the nuclear power of role ® K 9 IZE W T, TA @ B
N Bof AlZHT=D Z LN o TWIRWRE N B Y. -7, The unfortunate event in
Japan in 2011 have led many Japanese people to think about the role of nuclear
power. & W o 7AW FFEOFE VW LY Many Japanese people came to think about
the role of nuclear power because of the unfortunate event in Japan in 2011. &\ > 7=
NERTFEEBEBOLTENWTHLIMENE -T2, EHLHLORITH LENMeb H#iFHT
S5 %5 2 7=, 7272 L. nuclear power (Z1% unclear power <> new clear power &\ 7=
EBEXRLHEWR D o T,

2.

[FERE]

A 7Ty RIEEEHICH 5 a— Vv —FR— VR FIFIIEEN— A TR X — 2 E A
TS CRYI DR I3 EITTE - 7=,

[fEZH51)

The Calder Hall reactor in the northwest of England was the first nuclear power
station in the world to produce energy on a commercial scale.

[#f mEEEY]

[/32] & L. The Calder Hall reactor / on a commercial scale / (the) nuclear power
station ® 3 DZ 52 M THY | ZMENB X HXZ HAFEOEINX 477K
EEHICH D) TmxAF—% AR MNT) 2L T HERTERAO] CEBE otz 126
M bHT . Z < OB IRV BT b,

HEE L ~UL T,
(1) in the northwest of England ¢ C north % nows / nouth / nors 72 &' LT\ 5 %
D, west & east & EV /2 Y| north # south & T5bD0EH-72, —FBITF W=D
X England BN E T 2 WZBRENRVICHE N -T2 L TH D, TDOHTEho7=DI%
Ingland / Ingrand T& > 7z,
(2) to produce energy Tl generate / create / make & 1IEf# & (X L7273, energy MO AL
EREIZBRE LS o7, XLV TIE (BIIZOLLD0FNEETIID HDED)
(the) first power station which produce energy on a commercial scale in the world & L
T boo, TH] TAFR] 72 EOFARN R Z KD TWDLERNRE N> T,

2 (B30R)
(R E %]

ZOMEEZBE L TZRFFTEASLCHBZHAMEICIEEN 0089 0, BRoTKREHN
T AT T 2+l BESELNDNE I, BREEZRENICHER TCE 20 E20, F
TR EDOIGEN B LN E I hER-WEE 2T, TRE], k., 155571
LT, 30 AR CREE 2R A IICER R LT,

TN 2oL, BRCEH, FEMZ2 0B L, mEiIcEBE I ETWh 50
ZHUDICEEN L7, TRERK ) 122V, MBS - A3 - ffam CHER S LT 57
Y9 M, “discourse markers” (first, second, one reason is, in conclusion 73 &)<°#2#¢ o)
S IEMEIZ 1M B ORRBNTHE DI TV D0 E D na IRl Lz, TEREI ) I 2V T,
R 2 Bt A CREMMNBRTE 208 9 0, 3L - 3B - RV - MIHEa S IEMEZE Y fE
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DILTWDHNE I, ZRFITHEL VWS VWRILLEELZEL Y ELT0nanEIsnED
< HWIEFEIZAE X 7o Dv7e &2 bl Zi- il 21T o 72,

[f2EH51]
There is no doubt that the gap year system is very attractive for high school
graduates. However, I do not agree with it for the following reasons. Firstly, if
students do not study for one year they might forget what they learned at high school.
This will make it difficult for them to study new topics when they start studying at
university. Secondly, students might not want to return to their studies after
becoming used to being free and independent. But if they do not go to university they
may have trouble finding a good job. For these reasons, I disagree with the gap year
system.

(£ mEEET)
The majority of candidates could answer the question, with a number of well-written,
logical responses giving clear reasons supporting the stated position. However, many
responses showed the same kinds of errors that we see year after year.
1) One common problem was with the use of personal pronouns, with errors like:
X  “they can get a chance to develop my understanding...”

(O  “they can get a chance to develop their understanding...”

2) There were many problems with people not using verb + preposition + object

correctly:

X “I agree 1t”/ “I am agree 1t”

O  “Tagree with it”

X “I disagree to the idea”

O “Idisagree with the idea”

X “We can learn foreign countries”

O “We can learn about foreign countries

3) Discourse markers were often used incorrectly:
x  “We need lots of money to enter university. This is because we need to work”

O “We need lots of money to enter university. Therefore we need to work

Confusing “The reason that...” and “the reason is that...” was quite common, too. Be
sure you are clear on the difference between these kinds of expressions.

4) Incorrect word usage was another big problem. For example, many people wrote
“experiment’ when they should have used “experience’:

X  “We can experiment many things by travelling overseas’

(O  “We can experience many things by travelling overseas’

Another common problem was the use of “fo trip’ as a verb, which has a considerably
different meaning from “to travel

x  “We can learn a lot by tripping”

O “We can learn a lot by travelling”



